Sine Law Worked Questions

Tuesday, June 7, 2022 9:31 PM

Scroll down for solutions - the resolution on them may not be great, but this is what I've got.

Exercises

1. Use the Law of Sine to solve AABC in each case. Round the answers to one decimal place.
a) ZA=37°,a=13,b=16

b) ZA=54°,a=13,b=10

c) £ZB=120°,a=15,b=31
ZB=112°a=25,b=28
/C=27%a=17,c=13

f) ZA=72° /ZB=50°b=35
g) ZB=105° ZC=40°b=13
h) ZA=22°, /B=69°, a=3.7
i) ZA=81°, ZC=40°,a=10
i) 4£B=43°, ZC=100°,c=24
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2. The roof lines of a building make angles of 28° and 75° with the horizontal. The shorter roof line
is 4.1m long. Find the length of the other roof line rounded to one decimal place.

3. Bob observes the angle of elevation of an airplane to be 52° and the angle of elevation for Amy
is 36°. Bob and Amy are 325m apart on level ground and on the same vertical plane as the
airplane.

a) How far to the nearest meter is each person from the airplane?
b) How high to the nearest meter is the airplane?

4, Two guy wires 15m and 9m in length are fastened to the top of a radio tower from two points A
and B directly opposite one another on level ground. The angle of elevation of the longer wire is
29.3°.

a) How far apart are A and B? Round your answer to the nearest meter.
b) How tall is the tower? Round your answer to the nearest meter.

5. Abridge MN is to be built across a river. Point P is located 64m from N on the same side of the
river and /N = 69° while /P =42°. How long will the bridge be? Round your answer to the
nearest meter.

Law of Sines worked questions
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SINE LAW practice
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c) £B=120°a=15b=31
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e) £C=27°,a=17,c=13
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g) ZB=105° ZC=40°b=13
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h) ZA=22° ZB=69°, a=3.7
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i) ZA=81°, /C=40°%2a=10
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j) ZB=43°, /C=100°%c=24
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2. The roof lines of a building make angles of 28° and 75° with the horizontal. The shorter roof line
is 4.1m long. Find the length of the other roof line rounded to one decimal place.
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3. Bob observes the angle of elevation of an airplane to be 52* and the angle of elevation for Amy
is 36°. Bob and Amy are 325m apart on level ground and on the same vertical plane as the
airplane.

2) How far to the nearest meter is each person from the airplane?
b) How high to the nearest meter is the airplane?
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. Two guy wires 15m and 9m in length are fastened to the top of a radio tower from two points A
and B directly opposite one another on level ground. The angle of elevation of the longer wire is
29.3°.

a) How far apart are A and B? Round your answer to the nearest meter.

b) How tall is the tower? Round your answer to the nearest meter.
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5. Abridge MN is to be built across a river. Point P is located 64m from N on the same side of the
river and ZN = 69° while ZP = 42°. How long will the bridge be? Round your answer to the
nearest meter.
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